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p- 137 (19) A particle moves along a line sq that its position at any time
12 0is given by the funclioxfsi) =t - 3t + 2 \here s is measured in

meters and t is measured in Seconds.

a) Find the displs af during the first 5 seconds.

&j: L~ = [0mekeds
5(5)- ()

b) Find the average velocity during the first 5 seconds.
Slope = Dy - \2-2 _\0 g m[sec
D+ S-0 S

rton

¢) Find the instantaneous velocity when t =4,

Sy 43t ¥ L

S S o
v(g)= 2(0)-3 = mlsec
d) Find the acceleration of the particle when t = 4.

S(O=4+%34L+2
VIE) =243

sl )y e 4

e) At what values of t does the particle change direction?
24-3=0 V()=0
=2

v{£) =243
v{)=al-32-1<0

f) Describe the particles motion
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a) Find the body’s velocity, speed, and acceleration at time 1.

b) Find the the body’s velocity, speed, and acceleration at time /=

=8

15. s(1) = 2sint + 3 cost

| v(ey = 2eost -3 vt |

V(T)= A - 3sinf = K@)
:ra-hi_ﬁ: "'l'-]Dh—l
3

~ speed = [V = (7)) =
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V)= 243942+ 124-5
alt) = (€5-184 +12 59¢¢A=lv(hItO
0 = ¢ (+4-34+2) 5PCCA:1V(7‘)|:I"I\:l
6= ¢ (4-D(V)
defda)

16|Page




